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1. For each question given below, four answers are given. Out of
four, only one answer is correct. Select the correct answer :
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/(:j A solution reacts with crushed egg-shells to give a gas that

turns limewater milky. The solution contains— . 1
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(i) NacCl (i) HCI (iii) L101 ‘ . (iv) KCI

.})j/ An element reacts with oxygen to give a compound with
high melting point. This compound is also soluble in

water. The element is likely to be— 1
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(i) carbon / IRF [/ I [ FTo / e

(iti) silicon / Rfee / Pifere / Rafere / fafe

(iv) iron / SiZq / SRRW / @R / @@

() An element X forms a chloride with the formula XCl,,
which is a solid with a high melting point. X would most .
likely be in the same group of the Periodic Table as
(M5 XA XCly TS F'9MC 57 I | 2 O ST @bl oMl

o | (T X o) (FFIOII OI0e 35l 356 4R SR SRS
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T | (T X Fare @mibe ot @37 sl AR Rl W (A0E
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T YT gETl R e X 3 TeE Wi R gar e R g@
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o X, XCl, G 91 T FaRES a1 @ St OF 319 © a97 foae

T e B 3rad vl # a9 X Wvaa: Y 9E % oF@ia grm e
(i) Na (i) Mg (iii) Al (iv) Si
The enzyme contained by our saliva is called
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_{i}- amylase / QW/WW/W/W"
(ii) lipase / AR [ AR / ARYS / TRASA |
(iii) trypsin / e / GoPm / feafe / R

 (iv) pepsin / cooa / ¢coebE / Yl /. A
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(e) /The part of the brain that controls the posture and
/ equilibrium of our body is '
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() diencephalon | UCHROFFR | SCHECT / ‘eﬁﬂ@f‘*ﬂa"’ /
gﬁaﬁw

(u) cerebrum / e | e [ /e / TR
)}() cerebellum | GREAR [ Cﬂﬁ@ﬁﬁl‘aﬁaﬁm / W

(iv) medulla oblongata / g SIERA! / cﬂgmw\ﬂm | wge
Tl ﬁgw AT

{f) Durmg the course of evolution, the process: by which
the characteristic features of the members of a’ species
modify due to the influence of various factors and thus

give rise to the organisms with new characteristic features
is called
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_M¥ speciation / SR / ﬁﬁﬁﬂﬂ.l‘f / E‘lﬁ'ﬁfﬁf@ﬁﬂ/ FENGERYI
(ii) evolution / TIRFM / TR / FRTFT / i

(i) inheritance / WG / IMET / HIR Y JROAD /
EMIGED ‘
(iv) variation / Rfemel / Rivmer / Vg / ffvwen

(99 Where should an object be placed in front of a convex
lens to get a real image of the size of the object? 1
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(i) At the principal focus of the lens
I 3 F IS
IR A TR
A MR % wEE
T % Y BIRH |

(i) At twice the focal length
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B19-GS/22A [ Contd.



( 6 )

/(aﬂt infinity
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(iv) Between the optical centre and principal focus of the
lens ,
R AR (T A L T R S
(T HICEIR (FF R I3 (IR W4
T ERG T 3T RS i s
T % TR e U1 G IR o6 S

(h) ~The least distance of distinct vision for a young adult
with normal vision is about 1

R 789 > 21e<uEe 0 S8l (13l PAoy g A -

TR yiesr=er TS T Joy 8 17e 2l |
| HUEE] JUR TH A ARAE SE R g EEie ST e
T g % 99w & foe gere weie Y reuan gl et R, e
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/gp}zs cm / ¢ @& . /e @R/ 25 F0 o / 25 Fo 1o
(i) 2:5cm / e @[/ eFR /250 o / 2:5F0 o

(iv) 25 m [/ xe fOR / xe fbm / 25 frer / 25 di=

| (i) The practical unit of electrical energy 1 kWh means 1

(afes *fes IART 9FF 1 kWh T

cagfes feq IR ¢ 1 kWh e

Hifsersr wiel SIEfER @9 1 kWh 7 3diftmn

T Sl o ARG W 1 kWh 1 Haeld 8l &

() 36x10° J | (5 3.6x10° J
(i) 3.6x10° J (iv) 36x10% J
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.)(i/ Which of the following is not an example of a bio-mass
energy source? 1

] @m%ﬁa—ﬁﬁfw%@awqm?

e @Fb GRed e Tem g 712

R o frm Memet wiwh guf A R T
Frafafaa T ¥ W 33 w9 S 9 1 Ieee TE 27
(i) Wood / ¥R / T8 / 3H | @

§i ?T;\Jq%;a;glcrgy | g e / FEdr e / T=mmmh i /

}dGobmgas/CWCﬁ/CWW/mﬁH/Wﬁﬂ
(iv) Coal/ml'@ﬁl/@m/m |

GROUP—B / ¥4—SI% / 4—l /| T—<TRMM [/ T—WW
2. Give an exa.mple of a double displacement reaction. 1
fR-wepie R <or Trzae fir |
@3 FR-wpopiel i Trrzad w1s |
EIRCIC SRR LIHE RS CACIHD R
fafereom arfufsrn =1 T Serewwr il

IS/What is ductility of a metal? | ' 1
4G GO FIATS! FIF (R0 ? “
<3 4Ipd THTS! FICE 30 2
oTg TR TR ATE gei?
uTg <l qIaT T 87 '

Which of the following hydrocarbons undergo " addition
reactions? . 1
C;He, CgHg, C3Hg, CoHp and CHy "

TR (@RS Q2GS @ R oEm 2
_CoHg, CgHg, C3Hg, CoHp WI¥ CHy
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e @mel g @erse [ mem 2
CyHg, CaHg, C3Hg, CoH,y @R CHy

TMERM HTS B3 SHa-® AAHAE fesnerg RfFEmn?
CyHg, C3Hg, C3Hg, CoHy 3 CHy

frafafaa aregrmme o frat oo il 1 27
CoHg, C3Hg, C3Hg, CoHy 3R CHy

5. What is a dominant character? : il

oo BRE IR @1 2
2rei]l BRI IF 0 2
TS A TR gE1?
vl =i ford wea 87

- ¢ What is meant by power of accommodation of the eye? 1
54 Tercare el i 9 | |
(OTCRT T Fe F
AT TTRISEHT MR qre gei?
A Y T AT W A 3T 27

7. Take about 3 mL of sodium sulphate solution in a test tube. In
another test tube, take about 3 mL of barium chloride solution.
Mix the two solutions and answer the following :

Bl *@AFETS 3 mL TM WRAN TSI T AR ) RS

3 mL YA QRN #'IRC T ER | T 71 2w e oot fagame
Teq fora '

a3 “RIFFC 3 mL TR Feecha w1 e | 9 <l W 3 mL -
QRER GPRIRTE 73 78 | 7 73 s v o) Pare sk Sey e :
T IEEE TEAE 3 mL ® ¥ wrethe TR W1 T T ST
TG 3 mL AW T e TR w1 e TR e s
TR THERR g o
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& Wt § 3 mL Tifad dee w1 Ao wi| TE 3 wadd! 3
3 mL SfTm Feiee wifm| SR et @ e @) o Iw T
(a) Write the observation of the above experiment.‘ 1
@7 ~(RPFICR R o | |
TAEE SR A (T |
TRt sfmser ArfsfemE! o))
I fspareherra § M = <, fafEm)

(b) Write the chemical equation of the above observation and
mention the type of the reaction.
{9 meﬁwqﬁwwﬁﬁmﬁﬁww’i
Sl
ToiRd ety AT AR Tl m\ﬁﬁrﬁ‘ﬂ W@Zﬁﬂ
AT
7a’ |

m@mﬁw%mwmww%@awm YRR T
it |

8. A metal compound A reacts with dilute hydrochloric acid to
produce effervescence. The gas evolved extinguishes a 'burning

candle.

ﬁﬁm@ﬁAﬂm@’mﬂ&mWﬁﬁm@ﬁwﬁﬁ%WL
TR (ZAI (TRCBIE ST Fho 41 T 43 |
&ﬁm@ﬁAaﬂWWﬁmwﬁﬁmmmaﬁwn
Teorm 28 SIPIS @3b wcE AR (TN e o
u@ﬁ@ﬁAm%ﬁmﬁwﬂm@ﬁﬁﬂmmmﬁg@@ﬁa
TREE | STRER™ g SEr AR T AT @ |
1§ urg Afier A 7 TR 3 & W1 ARGR F=a ¢, Fﬁm?ﬂ?{
A i At 9 e 4 2 |
(@) Name the gas that extinguishes a burning candle 1
o] 21 'Y TSN CSIREBA A e | |
A U A TSI S T A | T
ST o AHETE SR e g
STerd! HiHsd! Y S ATl 9 AW SaEel
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(b) Write a balanced chemical equation for the reaction if one
of the compounds formed is calcium chloride.

ﬁﬁm—%wcﬂmaﬁmﬂmﬁm@wvémﬁﬁ@ﬁm

- efere ARFRers
Ritrifics Seom 2o <7 Qo FEPEN @RS 201 R ==
s AAeRafd T | A
TraEaE OWREE AR gRen SafEm a8 ST
. Resneeh orET gaTg TETETR g )
wuﬁ%%mwmﬂwwﬁmaﬁﬁﬁﬁ
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Or/miar/wwmar/ ST

What is a neutralization reaction? Give two. examples. 1+1=2

‘/ﬂﬂﬂﬂﬁﬁ‘ o1 T2l T |

epa R 91 2 wf6 Trrmet me | < L Ghgess
Teell AW s e A el

mﬁwwﬁmw%?ﬁmﬁﬁm

9. Name the respiratory pigment present in our blood. State its
function. : 1+1=2

Wrwwwcnﬁwmﬁmlwﬁwwmﬂwn
WWWW%@WWMW%T@WWWWn
ﬁﬁ%mwﬁﬁaﬁgﬁiéﬁ@mﬁ@w |

AR R A UG 4w i o1 A TorRaw | gaet v w27

10" Write two differences between axon and dendrite. 2
GI S (G5 TS o1 A1l o |
SITE 4<% (OG0T T 7B 2N (o1edl |
T IR ‘Q:@szﬁ TS A wR feR)
AtewTe (i) aom g (SgEe) Q) o fifau
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11. What is the importance of DNA copying in reproduction? -2
7 AfFi® DNA-T el seamaime {2
25 2ffFaTs DNA-T ARt el 3 ?
FSTAETE DNA FA1 SAEA MR 717
Do To o WdHT I FoH § 1 He &7

)2./ An object is placed at a distance of 10 cm from a convex mirror
of focal length 15 cm. Fmd the posmon and nature of the
lmage 1+1=2

15 cm TR 7T TG WA 93T Rl 10 cm [/HS 961 I I XA |
ASRIGR Tagm S &S Mef 1 | ‘

15 cm (TRM OTIR 936 T@e vl (0F 10 cmm-awa@m
=1 | 2AfeREta sREm 3 o3fS AT e | .

15 cm 'FHE SHABA T FEA TWHEE 10 cmmmaﬁrwéﬁﬁﬁt
AT AT I | FEEf aE R amgens gl

15 cm WY gt & Frll 3ae 390 & 18 o 10 cm g0 W @ ) wfafes
$ ferfa qen yfa 1@ Fifaw)

Or /71331 / 99d1 / TET / 3reran

An object S cm in length is held 25 cm away from a convergmg
lens of focal length 10 cm. Draw its ray diagram. ..

5 cm ¥4 38 @B 10_cm IR C¥R SO @R @39 °R[1 25 cm
RS I 2 | TR Ifo o |

GFf6 5 cm CFCHM IB G- 10 cm (FIFM CaedR wfeA@ @ (WTF
25 cm YA0Y AR A | «@F fAfea O |

5 cm WRIEMA FHA AR EE 10 cm % HE TR TH T4 T JEl
aufy fmre@ 25 cm MeAE SifeEE TR | 3R A grEmiE) afa |

5 cm o= T fa= 10 cmﬁﬂ{ﬁ%ﬁu‘mtﬁmﬂﬁﬁ 25 cm g W
@1 ST & | 39 yewi-famur s difew)
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13. A current of 0-5 A is drawn by a filament of an electric bulb for
10 minutes. Find the amount of electric charge that flows
through the circuit, 2

< RYRST I SO 10 ffG TaTe 0-5 A 27 7 | ISABS B
QR (e wgea AR Shiear | -

b (e e oA 10 R W 0-5 A AR ¢ 1. 38 Rre TR
RS RPRST WA “IRAT @ |

T et A e 10 fife Ty a@@ 0-5 A Tifs TRRE! ST
Fna‘r@@q&nsmaaﬁ%mﬁ%ﬂrﬁfﬁﬁa@ﬁgm |

oreft foreg et % 93 % 4 0-5 A foegg urg 10 fore T wafem et 21 forg
iy | et e, s o6t oo By
Or /71331 / WAL / TAT / Sreram

How much energy is given to each coulomb of charge passing

through a 6 V battery? 2
6 V (T T e 515 260 ofs v i e =1 o 2 2
aﬁ6V'mwﬁmwﬁs’@ﬁ%wwWWw%éwav

6 V7 3216 A7 T R e e e 8 e e a7
6véwéwﬁaﬁa@wmﬁmwaw%?

y./ Explain in brief how ozone layer is getting depleted. 2
W B @O S e, SR e 4 |
T BT R PO TCHCR, AL T G |
'S AR AR ST AR e g2 v
IS T T SR sl o i 2, waw § iy D

}B( Explain the working fun.ction of an electric motor, 2
01 CPEF T593 IR 07 77 |
3 ST bTaa @ 2 I |
LECRIESE LR e Kot T
o, At it TRy 1 ok B
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16. Give any two ways in which non-biodegradable substances
would affect the environment.

e RERR MR ARCS 4O R 2R R e 1B RN R
fera1 -

wiver Fdirad A1 R 2R PR (¥ CRICA] o SRR fRECH e |
ﬁaﬂ%ﬁﬁ%ﬁﬂmw@m@éﬁm%ﬁﬁmﬁl
@ﬁaﬂ%gﬁmﬁqﬁaﬁaﬁnﬁaﬂvﬁawﬁmﬂ@mﬁ'ﬂm%l

/l’lAu have been provided with three test tubes. One of them
contains distilled water and the other two contain an acidic

solution and a basic solution respectively. If you are given only
red litmus paper, how will you identify the contents of each test

tube? .
mﬁ%ﬁﬁﬁ%ﬁmﬁﬁmmlﬁ%@ammﬁﬁ—ﬁwwmm
aﬁa&@mwmmﬁqzﬁwwﬁ@mwmaﬁaﬁhﬁmﬂﬁ
ol 2w, (o 2ifeCH “RTTRETS ¥l TPt R o I 2 -
oS foul ARrwEE renl TR | CHePm @efice ~fee wE aR
W@maﬁwﬁ@@a«wﬁmﬁﬂmwmﬁwﬁﬁﬂaﬁ
W@Wﬁ@@,wﬁﬁwwm%@@w
#ﬁﬁmwwjaﬁmmﬁﬂqﬁrﬁﬁémw%mﬁg@ﬁaﬁ
wﬁ@@mmﬁm@ﬁmﬁmﬁélgﬁﬁ,wm
EEIRIREIE o

mmw%ﬁﬁﬁﬁl'ﬁﬁﬂwﬁmﬁamﬁmﬁﬁﬁ@ﬁ
Wﬁawqam@iﬁmﬁam%lﬁm%aamﬁmqaﬁm
ST 2, A 2T e Tl § @ T gere il e R Rt |

Or / %3 / 931 / Tt / reat

Which gas is usually liberated when an acid reacts with a
metal? Illustrate with an example. How will you test for the

presence of this gas? 1+1+1=3

/@% o e R IR TRICS (IR oz, Tefe zmo 9ol
T G0 TR 11 1 % (TRBiR Soiffs fRmea o i

X6

B19-GS/22A [ Contd.



( 14 )

TS 49 >ex R wacet STRers: @ P fisfs 297 Gl Sraep
R et | @ sisa TofRfs Frera R w2

A uTgs W Oftreen Ry ST GUeE W e siEr? gea
ﬁ%ﬁsﬁé@aléﬁaﬁgw@w@w@imm?

UG % W T ) sl BN W amRm: SRt e e ¥
SETET TR WHARY | I 7 i SR A S o T w07

/ (@) Explain the following in terms of gain or loss of oxygen

with one example each : : 2
Sf¥cen 3 s Y T T IR IS SwRIeTE A
<91 : '

e I e wow www fae oweRn @9 T SR
IR BT
mmwmwmﬁmwﬁﬁﬁﬁsﬁ
9T ; ‘ T ,

TS % AT A0 T F IR W P @ A e D) s

- % T w e i |
/ﬁy/omdation/wq/wact/aﬁwm/m

i Reduction / et / Rt | o/ st

) Why should a magnesium ribbon be cleaned before
burning in air? 1

TR R ACS AR 1 GOt AR FR =17 =Ager g 2
ﬂﬁmmﬁam%@mmwwﬁmm%@ @2
IRE Wmﬁﬁﬁmm@mm—ﬁ@aw
BRI oy

TR A § veet Wi R w w4 R st 27

19. (a) Which element has twice as many electrons in its second
shell as in its first shell? 1

mﬁ@mﬁ@amamwiﬁq‘m@ww?
(P (T TR P 2139 ITH 139 SR SIeR 2
o= gty A e fify S Yem o ge?
fore et 3 gmt e 3 veet e & A ger 87
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(b) ~An atom has. electronic configuration 2, 8, 7. What is the
atomic number of this element? 1

@Bl REIE wEEE RAr 2| 2, 8, 7. a3 (TEAGR ARTE
)40 62 .

B IR TERgAE R = 2, 8, 7. g3 (TEmg ARTARE
SR 2 o
ﬁqﬁwﬁgéﬁarﬁwmwz,s,%%gﬁgmﬁwﬁ
arfemmEn w7 |

T T HT AR A 2, 8, 7 ¥ 7@ T i T T 1
77 | =

Lithium, sodium, potassium are all metals that react with

c)
/ water to liberate hydrogen gas. Is there any similarity in
the atoms of these elements?

e, oI, ORI SR €71 TS AW B
R IR 22RG O (1% T6 T | @ (NELR RAF 60 A7
TR ?

fifRmm, CTRAm,  HPmEN—d SRef 419 | qafl weR e Rig
mmwa@mnﬁcﬁa@%ﬁﬂwiﬁﬁgmwﬁ?
forforam, 'feam, geREmeT S RESTEE S e o T AR
3g M ) | :
ﬁw,@%m,uﬁ%ﬁm—ﬁmﬁm@iwﬁaﬁ%mmm@mﬁﬂ
g?sa:mﬁ%wsﬁaa’iﬁawrﬂaﬁﬁﬁém%?

Or /&1 / 9%« / Tt / sreat

The position of three elements A, Band Cin the Periodic Table
are shown below : | A

*Rfga eiferers b1 (T A, BAF CI PR 910 (TS (TR :
orfiqa wiferem s (M A, B @k Cf FFEf Ao (et AR
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AR oG wEgE fmam IRy A, B IR ¢ 1 SEmerRE!l TerEme
IS EIRESICHR

3T wRf o o A, Baar C ot T weR R

Group 16 Group 17

(@) State whether A is a metal or non-metal.
(T A 419 T =48 2
T A 4 =S4T 2
A 31 HTg A1 aTgAfE?
AdTg g A wg?

(b) State whether C is more reactive or less reactive than A. 1
C (T Awes @R e (7 o9 i 2
C (T A 99 3@ @R T T SifeEw 2
C 3 A Trgs Mat @i 1 @w gimi?
A e C i iRt & @ ey

(c) Will C be larger or smaller in size than B? | 1
C (ICH1 WIS Bo(T ©Ieq G 37 2

C (=16 P B & (03 IS 11 (75 2
C 2 B gz <t 71 3=f e
C =1 9155 B ¥ 91 BN 91 BIeI?

20. What is hormone? Give an example of a growth-promoting
plant hormone. How does movement of the leaves of a sensitive
plant differ from the movement of a shoot towards light?

1+1+1=3

WA 57 ofera Ifae wfzal et =79 9 JERA o b Swrge
i | SR SR TR (TS 5o S PO (R e 1 oo e
NI SR 7
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TAR N I e w w9 SRR AN o <9 T e |
WWWW%WWW%WWWW@

I YT g 2

T A H1? ARHI TREAE e nn w7 R 9 g e Sl
ﬁaﬁﬁnﬁmam%‘wﬁrrﬁﬁnm@wwwﬁﬁﬁmam
g 7

WW%?WWWWWWﬁﬁﬁW%I@HﬁW
1 afvrdi = fer, wehrer it 3R R Y TR A e weER i 27
Or / 7231 / 91 / var / ayerar

What is hydrotropism? How would you demonstrate
hydrotropism with the help of an experiment? 1+2=3

Sl 36 7 b1 ~RPrgere w1 TR SRS e 4 |
TARE 2 G AR TR TS el T |

B15S 2SIt W7 AW me@aﬁmﬁm@m

=g

ST 1 7 e T 3 fore e e 8 e A

21. Describe the process of sexual reproduction in flowering plants. 3

AT Tfems (T e ARGl 9 1 |
AT TfeeT (TN 2 AR 90 AT |
ToER =TE0 TREETE AU NEAE TEfeRdE sgg|

gudt it § Wi S sk o 9ol hifvig)
| Or / &3 / 991 / TaT / 37erar

How does reproduction help in maintaining stability to the

populations of a species? 3
ofer AfFRR (P AW e TR &S 79 91 (@ is T2 [A 2
2= 2ifql (I e iced wRME &S 591 Face Fre =R ¢ 2
BTty R 'ors REWMY 5 TRAREE SSRERET el 3 S
S Toreft wftsfisr it auf® & e & forg woR e 27
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2 Explain the relation between evolution and classification.
IR I A o= T F=o=E I 341 |

STRIM R N ReoIGTR T0 7o~ 10 T |
FIENTHR A MERFTEE TS ia= 9@
9 fuswm vg offetor & R ge9y w1 9o hifsu)

Or / 121 / 94t / U / Al

How many pairs of sex chromosomes are contained by the
human beings? Explain how is sex determined in a human
child.

@RAR el @9 | FE@ 2 W AR ovgo Tt e
CPCMCT T =, TRI <$40

vammmmwmvmwwﬁwﬁmq
Floltq T =, JI A |

AAfETE S0E 99U SNAE HHS T A™E? qAEH 1 meaE wer o
WHAMAR &, 9@4|

aa A fom o % fRa 3w 81 {7 wea a6 for Fufor S g 77

23. Draw the ray diagram to show how hypermetropia is corrected.
The near point of a hypermetropic eye is 1 m. What is the
power of the lens required to correct this defect? (Assume that
the near point of the normal eye is 0-25 m) 1+2=3

TRARREO KO (@R AP S M | TR 5 @B A RS
9 1 m. ﬁﬁawmmmwmmmﬁmwﬁwm (4R
T Folfes 539 AT 46 77 0-25 m)

TRRRATOT SO (1CH g SE T | b TR (BIea T D
R 1 m. ¢ RIEY KONCT T LTSN G FTO T©? (477 1
FoiRF G &0 7 /7 0-25 m)

T @ wRrAE kKA AR e qEmR e Mem gar awi

T <1 1 m. 8§ TR R @™ 7 A a4 SERETE?
(BHAT o TEE WA @i feRem 0-25 m)

3 FAER quise T SH-giiky R qmia R s R o Se-gdg

I3 o1 e g 1m B 39 39 = e 0 & o eraws o e
w1 B (I8 AF ofiST T "= 9 @ fere 515 025 m ®)
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Or / 7Z31 / @ear / Tl / STeran

Why does the sun appear reddish early in the morning?
Draw the ray diagram of an arrangement for observing
scattering of light in colloidal solution. 1+2=3

e SpfE epal (R R 2 FRON T T Rfsdieee oREw
Sfefera affoq S 1 | |
WWW#W&W?WWﬁW%@Wﬁ
R STAGICTE APfod S |
ﬁ%ﬁw@ﬁﬂ@?wmﬁm'mm
Wmﬁwmﬁwﬁﬁﬂmwﬁmﬁm

W%w@maﬁﬁm@m%mﬁaﬁsﬂﬁaﬂﬁm%ﬁﬁq
=1 Jeor F  Forg T WA FRY

24. The resistance of a metal wire of length 1 m is 26 Q at 20 °C. If
the diameter of the wire is 0-03 cm, what will be the resistivity

of the metal at that temperature? 3

0 °C THer® 1 m (R 41gd O GurE @ 26 Q. ¥ ORTER IM
003 cm T, (903 (R THOS AT @l RFm 297 -
00 °C TEeM 1 m R I 41y O ([ 26 Q. I oEEd T
003 cm 2, SR (12 THOR {IgH (TSl F© (I ?

20 °C 3UEIE 1m reUTEht agl qr S gUE 26 Q. Jfe aRM @
0:03 cmw,m%gmmau@ﬁﬁmﬁ%wmwﬁ?? -

et u1g % 1m T« TR FT 20 °C W g WA 26 Q | AT AR F A
0-03 cm ¥, @ §9 a0 | 4Tg <t g SfeiereRar 1 g7
Or / 1% / 91 / Tar / 1t

100 J of heat is produced in each second in a 4 Q resistor. Find
the potential difference across the resistor. | 3

407 QT TS A% TPET T (@Al S 100 J. @HFOR R TR
e fReacen Bfere |

40 @ Tl T 2 EIRs Seom 2EH B 100 J. (FHSDT TR MW
T Feacen @ 1)
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4 oft AR S AW AdvEsTE 100 J R g dmiwE gom
HrA ' At s fegT | |

freft 4 O SRYE § SR 9 100 J T 39 B @ &1 wRkge % Rl |
[EECIcIGEETIE I

25. Explain how does a Solenoid behave like a magnet. When is_ the
force experienced by a current-carrying conductor placed in a
magnetic field largest? - 2+1=3

5ERCT (ICTMC TIII WA v 9, J@R T | (O oF e e 1
AYE AR GO Tefed T 7o (Fhou1 T 2 2

CICETES FrOTC PP N0l WIF e, JHCH (Ie | PIRI ¢ Jioi 1
AT s AR Seeq T 751 T A 2 2

WS T g Wik Wi R seem for) TR gresmaiEE i@
Hifects TR TN T AT e N @Y

AfETieRRl Yo hl Wil FH ZER w77 Tedt e 8w # R fRg
YRETE =Telsh W RIUG T el ARehad g 27?

26. What are the qualities of an ideal source of energy? Give the

names of two energy sources that you would consider to be
exhaustible. 2+1=3

B e e B @R B2 o W B Rew e o
B 1 SEY T4 |

'ﬂﬁﬂﬁ%ﬁ%%&ﬁﬁ@m%%?gﬁmwﬁmﬂw@ﬁ%
T I (A | '

Wﬁﬁﬁﬁﬂﬂ@@lﬁamgmsqﬁnmm?ﬁmmﬁmﬁ@ﬁ@aﬁm
wiwe G g for)

Fel % AR W e {7 W D o Wt B m ffae R s
I T &

- (@) You are given a hammer, a battery, a bulb, wires and a
switch. How could you use them to distinguish between
samples of metals and non-metals? 2
(SRR <51 e ,aﬁ@%ﬁt,aﬁw,ﬁﬁﬂﬁﬁwaﬁ?&ﬁmi’m ‘
IR AR IFZR I 4G W B9 @ B TR 2
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CoRE @I TS, «fo WO, G I=, TF TH 9IR 99O I2p
(ST ZeAl | G TR T FCA 419 GR TP N1 i ool
I

T T YT, TG W, T 9w, dR IR T g3§ eFE SRl 9
JHIEHIE TR U1 3R uTgAfe SR JER e wea?
AT Tk 7S, 24, Tow, IR @ e far @ R) 39 swEm W
UTgAl W6 gIgAT F T F i Y R HF T R 87

(b) Pratyush took sulphur powder on a spatula and heated it.
He collected the gas evolved by inverting a test tube over
it. What will be the action of the gas on the following? 2

HPI F BIYp G¥Te RERRS o1 Tartre 3ficst | Tea cxral oredl
(o€ Qb 2FA Sroreg 4R AR FRE | v MR FAve

C1=CoR RS e 2'3 2
SO o (RIG HINCE AFFR @00l ey Tl F¢a | TeI 2eq MHPifG
Gl @b R 7 Trb 407 R e | FafiResfer e amite

fafera Frnel =32

TS T AT THAE HAER TSR THMA 9@ Fgard | i

e fE T EeE TEE 9 GRE SeurAn gYEar | - TErEE
. BAEBRE i SruTgE w1 A

T 3 Tew o1 bl Hgar § o 38 ™ TRt wadedt @ Iea

e 36 Ieafsta g w6 wH | Fafafas w g 6 frn = aeft?

() Dry litmus paper
g foibaR TS
W% feIbaPT F9CE 0%
e forenm @rEtE\

W fotem@ 19 W

(i) Moist litmus paper
fPre bR o |
e ferbar Fseea Tw
fgm foenm TrarE

T8 fofend o
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(c)” State two ways to prevent the rusting of iron. 1
(5T NG 441 (1Y FRACE o1 T Sea 3947 |
(SRS TCH €A1 (1Y T {6 S Seas e |
I AW WERE! FEHRE A T T |
Hre o ST § 591 % foe @) affs sy

Or / N&I1 / 91 / TaT / Srera

s

(a) /Explain the formation of sodium chloride (NaCl) by -
transfer of electrons.

ERG IS SRS 2R #3159 (NaCl) o1 1120 41 |
R TSGR T R @aiRess (NaCl) 5167 i e |
TARARRE STHEAEST 6 R w weeft (NaCl) S Se= |
TIHEH F TIMO % g1 Aieam FanEe (NaCl) @1 fmfor-gwizy)

/y/ What are the ions presént in NaCl? : 1
NaCl (Qsors 41 Sprz & &2

NaCl (Q1f6ce Al SepeR 2
NaCl TWREE AHE AR 47 777
 NaCl % ®H-¥ 3eF 3ufedm 87

2

(0 What are amphoteric oxides? Give two examples of
amphoteric oxides. 1+1=2

ToyTl THRT I QA ? TogTl SR 151 Srreae i |
Todll ST T A0 7 [ CodTl SEiRees g we |
T SRR STHETESHI A1 A7 FA IR sressi 7 fifef 4
et sffearse BRI whed 37 3w S 3 2 e A

'28. (¢ A mixture of oxygen and ethyne is burnt for welding.
" Explain why a mixture of ethyne and air is not used. 2

il o A TS (welding) SRRE W 2R e T 39
=3 | B o IR FRe R R TR ?

GE (EO] (TSTE T (welding) SRHICER @38 RYRA-9q e 7=
T 20 | 23U GAR A TR (@ IS A A2 IR AT
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HfFSH I 3AFR o' IEE TR TN ATER e S 39T
3N RM 5 A6 7H] SEEEE S el |

TS Ao T % Frsr w1 e Afeen ¥ R B s ¥ e
a1 a1g < e 1 syEm =t 9 B st ol i

yWhat is esterification reaction? Write the name and
structure of the product when ethanoic acid reacts with
ethanol in presence of an acid catalyst. 1+1=2

Bive Rigw B2 ofis SEber Tofkfee e ufies 2amem
Fors e SR Sevm @rRr mIGE T o 1o Hara

e Rfem Ro e erEies Tk e Shbe
Y 3o R v Beom =ea o \N @< 99 e |

TR HEiAE e wt tiie Jseren feenfiere samien
uRrgen 3ures fersnarg SR SEiEE garerf § R dEfsemEe
o)

TR AR F R7 USSR U T oo whl Suiedfd
T @ Ak ek S AifiTe ST R IEH AW qe e

feffie |
/(9}7 Write the names of the following cbmpounds_ : 1
o (TPTIRE AN oA "
e (@asfer W e
TERf ERRF e R
= et & A fefa
H H H

N
AT HC—C-C—CmiH

S350 T
/mf(lsucl:_c=o

H H | ; v
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Or / #1331 / 51 / TAT / 3rar

(@) What is homologous series? Explain with examples.
1+1=2
SR I 1 @A 7 Twradl i ek o |
SRS QN FICF ICE 2 THRIPIR W FCA
TSGR @ 7 17 = @ gamam for

gaATdE ARt T} I2TE ER FAFET

(b) Draw the structures of the following compounds : 1+1=2
ot il (AR oo - it

e (@eielR soa-og S
TRAE B QRGRA Ty gEmi iy :
FafaRea @ 6t gwEAl fhe fiN

(i) Hexanal / (IS /| (ZFWE | AT / sFEHd
(i) Propanone / Z’9(F’¥ / (M7 / FIRT / T9MEH

(c) Name two hydrocarbons which give addition reactions. 1
e Rien @yed 1o 2RY' I 79 F3 |
Qe R orm =l qfb 2RCGIPRCTR 9 @I |
AR fasneng RfAm oHa g wEat g for)
Horea 3TTsRa @™ arehl < ggieeH & 9m faRan)

29. Draw a neat labelled diagram of the longitudinal section of the
human heart and show the direction of the flow of blood
through the different chambers with arrow marks, and give a
brief description of the blood circulation through it. 2+3=5

Tz TR 9o 3R P tdoer o s o TR R[{fey. otk

Tewd 2aRe @RI (TR YRR frd FT B wR@ @yed o TEEoR.
(SR (@1 (0% a2 @afb o f{g9e |

TR T G0 A fBlEe trdfemem o W @2 3 Rfdw e
T i 2@Re 2eW 7@ (AE T O Bz 7w orie w3z TREda Wy fiy
2671 TSR GF6 FERre [l 7ie |
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TR A AR aEn-fras aanfaE e’ greeErEt amEmk
ARG I 3 A A T Aot aRwnE A R o ik e R
I AR Nl HE S @it TR g7 ety

e T&d o TS I 1 AHIhA (o SH1ST T 34 fafsra wist § ¥R &
ARG 61 fn = fR 50 wnene o g AR & ae W TE |iEm
fereremt i

Or / 71231 / 9= / uar / Srerat

What is photosynthesis? What are the events that take place
“during this process? Write how does plant absorb carbon

dioxid 1+3+1=5
%"C‘JE‘T 7 @3 2fFme wefbe @RI FREE ﬁw Rt AT
WE&WI‘?@ SRR T, o |

SIS FHCRT T2 @R RS HKabe 26 wﬁsg & %rv Tfgw Frei
I TR-SHRG A=A T, Tl |

SR’ @ AT X Rrafarm sEE TG AT AT? AREIST AER FE
T[3-IFES I8 9 ferv |

THTT-GYAT T B 39 WHRAT 3 A BH-E1 geAnd 3 §7 Kq&qﬁmm
FTE STRITFAEES HT T T o

30. A 20 mm tall object is placed perpendicular to the principal

axis of a convex lens of focal length 10 cm. If the distance of the
object from the lens is 15 cm, then—

10 cm ¥'31g (T4 B9 (F1qR 9971 Y3 [FS Feld 20 mm T I3
9B 991 'S | I (FTR WP FHRE TS 99 15 cm H, (90—

10 cm (FRPT ORCHR <15 Tee (oa I3 SOE SISl 20 mm SHeR
<ofb 38 A1 27T | TR (T R TR W0 YRG5 cm T, OIRE—

10 cm % FE THARA T IF TR TMER 9@ g@E 4R 20 mm

aﬁwﬁﬁﬁa‘«wmmmmlaﬁwmﬁﬁgﬁﬁﬁéﬁ
SHYTEE 15 cm S, 3scl—
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5 20 mm o1 = 10 cm B8 T F fFf 39 o9 F gET o &
SECCEtCIRIIRICAC C TR GRS 15 cm §, q—

(a) find the nature, position and size of the image; ' 3

AfSfima o3fe, SaEm wF SRR Aoy 54;
AR 2GRS, TRE 93 SR e el
qmfAmE grEf, aE R gaE e,
whafes i wpfa, i aun srwR 3 g

(b) find the magnification of the image. ' ks by 2

sifefiaa Rt S |
sfeRicaa 4N @@ 3 |
BlRCERIEDICIRERel
giafes 1 ey 3 il

Or / 7ZJ1 / 9% / T / SFgar

Find the power of a concave lens of focal length 2 m. A concave
lens has focal length of 15 cm. At what distance should the
object from the lens be placed so that it forms an image at
10 cm from the lens? Also find the magnification and nature of
the image produced by the lens. he 1+2+1+1=5

2 m ¥R (R GG (FR 937 Tl B M1 15 em TR O

SRE (TR 99 [l A 799 g @61 IR /[T 10 cm [Hge
@R AR @bl o7 IR ol ERe @ R IR oo ol

e a1

o m EIFM il G e (@ we! ef§ FE 15 cm @™

el R0 SRR (T (WCF FO GACY G0 ARG AWA @G (U@

10 cm THCY G AfORT oS 23?7 SR e e off SRR R wxz
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2 m $EE TAYE TH TR e o e gl 15 cm e
SHAEH T o TRNEE a8 SHAEgE SR g9 9ee aiade
afwE 10 cmmwﬁwmtﬁﬁm?%ﬁwﬁaﬁ
A TR AR A wreE smgers R

-2 m BiE gt ATl ot oTade o o e I RIRT) 15 cm BeE @
T I3 faqd e forelt fom o1 wfefere g & 10 cm g0 W = mar @1 o o
%W@W@H%Wﬁﬁawmﬁ?aw%ﬁ%ﬂmwl

31l. Why should we conserve forests and wildlife? State three main
problems to construct large dams. 2+3=5,

I IE VAR F }THA PRI A7 2R A R ovae 4=
Ff0T 21 ST Raca Seay 341 |

] IR IVAAPTR @ FLFHT FC0 W2 J2& i e owea R
AL ST <R TEy I |

S TR T SR SR RrewEl G SA? R a g S
HHAM TR ST G 7 | '
ﬁwwwaﬁmwmmﬁmaﬁq?a@mﬁ%ﬁnﬁﬁaﬁg@
A GHETeTt <1 3g@ hifere |

| Or / %3t / |3t / T / =T

Why do we need to manage our resources? Write your views
regarding conservation of forests. 2+3=5

Y SR eI R SRR R B 2 I ST (RIS (O
TOTS 374 |

WWWWWW@QC ’éﬂ"WW’f\WWmC I
TOITS CICAT |

S S ERERE WE WA, A7 SR Gy SME e JrEs
I |
e GETeHl % Yeud o) STrevEsdl i 7 I Weaw % I o o g
e

%* Ak

B19-GS/22A : B9—





